14.8 Change of Variables in Multiple Integrals

J HereT :x =u+2v,y=2v.
On Sy:v=u,0 <= u = 1. This 1s mapped onto T (51): ¥y = %LD <X 3.
OnS:v=10<u <1 Thsismappedonto T (Sz): y=2,2 <x = 3.
OnS3:u=00<v <1 Thisismappedonto T (S3): y=x,0=x < 2.
Thus, R i1s the triangular region shown.
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14. To find T~ we solve the system of equations of

T:x=u—2v,y=2u—uvforuanduv,
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23. LetT cu=x—y,o=x+y. ThenT 1 :x = % (u+uv),y= %(o—u). The triangular region R is mapped onto the
triangular region 5.
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~ 14.2 Iterated Integrals
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